# GENERALIZED F-NOMIAL MATRIX AND FACTORIZATIONS

#### MUSTAFA ASCI, DURSUN TASCI, AND NAIM TUGLU

ABSTRACT. In this study we define the generalized k-order Fibonacci matrix and the  $n \times n$  generalized Pascal matrix  $\mathcal{F}_n(GF)$  associated with generalized F-nomial coefficients. We find the inverse of generalized Pascal matrix  $\mathcal{F}_n(GF)$  associated with generalized F-nomial coefficients. In the last section we factorize this matrix via generalized k-order Fibonacci matrix and give illustrative examples for these factorizations.

### 1. Introduction

In [3] for a fixed n, the  $n \times n$  lower triangular Pascal matrix

$$P_n = [p_{i,j}]_{i,j=1,2,...,n}$$

is defined by

$$p_{i,j} = \left\{ egin{array}{ll} inom{i-1}{j-1} & ext{if } i \geq j, \\ 0 & ext{otherwise,} \end{array} 
ight..$$

The Pascal matrices has many applications in probability, numerical analysis, surface reconstruction and combinatorics. In [1] the relationships between the Pascal matrix and Vandermonde, Frobenius, Stirling matrices are studied. Also in [1] another applications in stability properties of numerical methods for solving ordinary differential equations are shown. Lee and Kim [13] factorized the Pascal matrix involving the Fibonacci matrix. Pascal matrices, Binomial coefficients, Fibonomial coefficients, F - nomial coefficients, their generalizations and factorizations are studied by many authors. For details see [4, 9, 10, 11, 12, 13, 15, 17, 18, 19, 20, 21, 22, 23].

For integers i, j and  $n, 1 \le i, j \le n$  the  $n \times n$  Pascal matrix via Fibonomial coefficients named as Fibo Pascal matrix  $P_n = (p_{ij})$  similar to the

Date: May 18, 2011.

<sup>2000</sup> Mathematics Subject Classification. 11B37, 05A10, 11B39, 15A23.

Key words and phrases. Generalized F-nomial, Generalized k-order Fibonacci, Factorizations.

Pascal matrix in [10] as follows

$$p_{i,j} = \left\{ \begin{array}{ll} \binom{i-1}{j-1}_F & \text{if } i \geq j, \\ 0 & \text{otherwise,} \end{array} \right..$$

was studied in [20]. The inverse of this matrix was also given in [20].

Silvester [8] obtained a matrix representation for usual Fibonacci sequence. Kalman [7] extended this matrix representation for a generalization of Fibonacci sequence. Kalman supposed that the (n+k)th term of that sequence defined recursively as a linear combination of the preceding k terms,

$$a_{n+k} = c_0 a_n + c_1 a_{n+1} + \dots + c_{k-1} a_{n+k-1}$$

where  $c_0, c_1, ..., c_{k-1}$  are constant coefficients.

Miles [16] defined the generalized k-Fibonacci numbers as shown for  $n>k\geq 2$ 

$$f_n = f_{n-1} + f_{n-2} + \dots + f_{n-k},$$

where  $f_1 = f_2 = ... = f_{k-2} = 0$  and  $f_{k-1} = f_k = 1$ . Er [6] defined k sequences of the generalized order - k Fibonacci numbers as shown:

$$g_n^i = \sum_{j=1}^k g_{n-j}^i$$
, for  $n > 0$  and  $1 \le i \le k$ ,

with boundary conditions for  $1 - k \le n \le 0$ ,

$$g_n^i = \left\{ egin{array}{ll} 1 & \mbox{if } i=1-n, \\ 0 & \mbox{otherwise,} \end{array} 
ight.$$

where  $g_n^i$  is the *n*th term of the *i*th sequence.

Akbulak and Bozkurt [2] defined order-m generalized Fibonacci k numbers by matrix representation. Using this matrix representation they obtained sums, some identities and the generalized Binet formula of generalized order-m Fibonacci k-numbers.

In [14] the  $n \times n$  k-Fibonacci matrix is defined and the inverse of the k-Fibonacci matrix is given as follows:

$$F(k)_{n}^{-1} = \begin{bmatrix} 1 & 0 & 0 & \cdots & \cdots & 0 \\ -1 & 1 & 0 & \cdots & \cdots & 0 \\ \vdots & \ddots & \ddots & \ddots & & \vdots \\ -1 & \cdots & \ddots & \ddots & \ddots & \vdots \\ 0 & \ddots & & \ddots & \ddots & \ddots & \vdots \\ \vdots & & \ddots & & \ddots & \ddots & 0 \\ 0 & \cdots & 0 & -1 & \cdots & -1 & 1 \end{bmatrix} . \tag{1.1}$$

In [18] the  $n \times n$  k-Pell matrix  $M(k)_n$  is defined and the factorizations of k-Pell matrix are given. The inverse of the k-Pell matrix is given.

In this paper we define and study the  $n \times n$  Pascal matrix via generalized F-nomial coefficients. We define the generalized k-order Fibonacci matrix and factorize this matrix. We also find the inverse of generalized k-order Fibonacci matrix. Finally in the last section we factorize the  $n \times n$  Pascal matrix via generalized F-nomial coefficients involving generalized k-order Fibonacci matrix.

## 2. GENERALIZED K-ORDER FIBONACCI MATRIX

For a positive integer  $k \geq 2$ , we define the generalized k-order Fibonacci sequence  $\{v_n(k)\}$  as

$$v_1(k) = \dots = v_{k-2}(k) = 0, v_{k-1}(k) = 1, v_k(k) = d_1$$

and for  $n > k \ge 2$ 

$$v_n(k) = d_1 v_{n-1}(k) + d_2 v_{n-2}(k) + d_3 v_{n-3}(k) + \dots + d_k v_{n-k}(k)$$

We call  $v_n(k)$  the *n*th generalized k-Fibonacci number. For example if k = 4, then the 4th sequence of the generalized 4-order Fibonacci sequence is

$$0, 0, 1, d_1, d_1^2 + d_2, d_1^3 + 2d_1d_2 + d_3, d_1^4 + 3d_1^2d_2 + d_2^2 + 2d_1d_3 + d_4, \dots$$

For some special cases;

- If k=2 and  $d_1=d_2=1$  then  $\{v_n(2)\}$  is the usual Fibonacci sequence  $\{F_n\}$ .
- If k=2 and  $d_1=2$ ,  $d_2=1$  then  $\{v_n(2)\}$  is the usual Pell sequence  $\{P_n\}$ .
- If k=2 and  $d_1=1$ ,  $d_2=2$  then  $\{v_n(2)\}$  is the usual Jacobsthal sequence  $\{J_n\}$ .
- If k = 3 and  $d_1 = d_2 = d_3 = 1$  then  $\{v_n(3)\}$  is the Tribonacci sequence  $\{T_n\}$ .
- If  $d_1 = d_2 = d_3 = ... = d_k = 1$  then  $\{v_n(k)\}$  is the k-Fibonacci sequence defined in [14].
- If  $d_1 = 2$ , and  $d_2 = d_3 = d_4 \dots = d_k = 1$  then  $\{v_n(k)\}$  is the k-Pell sequence.[18].
- If  $d_1 = 1$ ,  $d_2 = 2$ , and  $d_3 = d_4 \dots = d_k = 1$  then  $\{v_n(k)\}$  is the k-Jacobsthal sequence [18].

Now we introduce new matrix. The  $n \times n$  generalized k-order Fibonacci matrix

$$F_n(k) = [f_{i,j}(k)]_n$$

is defined as for a fixed  $k \geq 2$ ,

$$f_{i,j}(k) = \begin{cases} v_{i-j+1} & \text{if } i-j+1 \ge 0, \\ 0 & \text{if } i-j+1 < 0, \end{cases}$$
 (2.1)

where  $v_n = v_{n+k-2}(k)$ . For k = 4 and n = 4 the matrix is as follows:

$$F_4(4) = \left[ egin{array}{cccc} 1 & 0 & 0 & 0 \ d_1 & 1 & 0 & 0 \ d_1^2 + d_2 & d_1 & 1 & 0 \ d_1^3 + 2d_1d_2 + d_3 & d_1^2 + d_2 & d_1 & 1 \ \end{array} 
ight]$$

G.Y. Lee and J.S. Kim gave the factorizations of the k-Fibonacci matrix in [14]. Now we give factorizations of the generalized k-order Fibonacci matrix  $F_n(k)$ , where the method is similar to the method in [14]. The selection of the matrices  $S_l$  and  $G_l$  are same with the selection of Lee and Kim. We use this method for finding the inverse of the generalized k-order Fibonacci matrix  $F_n(k)$ .

Let  $I_n$  be the identity matrix of order n, and let  $L_k$  be a  $k \times k$  lower triangular matrix as follows:

$$L_{k} = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots & 0 \\ d_{1} & 1 & 0 & 0 & \cdots & 0 \\ d_{2} & 0 & 1 & 0 & \cdots & 0 \\ d_{3} & 0 & 0 & 1 & \cdots & 0 \\ \vdots & \vdots & \vdots & \ddots & \ddots & \vdots \\ d_{k-1} & 0 & 0 & \cdots & 0 & 1 \end{bmatrix}$$
 (2.2)

Set  $S_l = L_{k+1} \oplus I_l$ , l = 1, 2, ... We define  $n \times n$  matrices  $\overline{F_n(k)} = [1] \oplus F_{n-1}(k)$ ,  $G_1 = I_n$ ,  $G_2 = I_{n-2} \oplus L_2$ ,  $G_3 = I_{n-3} \oplus L_3$ , ...,  $G_k = I_{n-k} \oplus L_k$ ,  $G_{k+1} = I_{n-k-1} \oplus L_{k+1}$  and for  $k+2 \le l \le n$ ,  $G_l = I_{n-l} \oplus S_{l-k-1}$ . In particular  $S_0 = L_{k+1}$  and  $G_n = S_{n-k-1}$ .

We have the following theorem:

**Theorem 1.** The generalized k-order Fibonacci matrix  $F_n(k)$  can be factorized by  $G_l$ ,  $1 \le l \le n$ , as follows:

$$F_n(k) = G_1 G_2 ... G_n$$

Now we give another factorization of  $F_n(k)$ . An  $n \times n$  matrix  $D_n(k) = [d_{ij}(k)]$  is defined as

$$d_{ij}(k) = \left\{ egin{array}{ll} v_i & ext{if} \ j=1, \ 1 & ext{if} \ j=i, \ 0 & ext{otherwise} \end{array} 
ight.$$

then we can give the following theorem:

Theorem 2. For  $n \geq 2$ ,

$$F_n(k) = D_n(k)(I_1 \oplus D_{n-1}(k))(I_2 \oplus D_{n-2}(k))...(I_{n-2} \oplus D_2(k)).$$

It can be computed that the inverse of  $L_k$  is

$$L_k^{-1} = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots & 0 \\ -d_1 & 1 & 0 & 0 & \cdots & 0 \\ -d_2 & 0 & 1 & 0 & \cdots & 0 \\ -d_3 & 0 & 0 & 1 & \cdots & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ -d_{k-1} & 0 & 0 & \cdots & 0 & 0 \end{bmatrix}$$

and

$$D_n(k)^{-1} = \begin{bmatrix} v_1 & 0 & \cdots & 0 \\ -v_2 & 1 & \cdots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ -v_n & 0 & & 1 \end{bmatrix}$$

Corollary 1. Let  $G_i^{-1} = H_i$  for i = 1, 2, ..., n. Then we have

$$F_n(k)^{-1} = H_n H_{n-1} ... H_2 H_1$$
  
=  $(I_{n-2} \oplus D_2(k)^{-1} ... (I_1 \oplus D_{n-1}(k)^{-1}) D_n(k)^{-1}$ 

The inverse of the matrix  $F_n(k)$  is obtained as the matrix  $F_n(k)^{-1} = F'_{ij}$ , as

$$F'_{ij} = \begin{cases} 1, & \text{if } i = j, \\ -d_{i-j}, & 0 < i - j \le k \\ 0 & \text{otherwise} \end{cases}$$

that is

$$F(k)_{n}^{-1} = \begin{bmatrix} 1 & 0 & \cdots & \cdots & \cdots & 0 \\ -d_{1} & 1 & \ddots & & & \vdots \\ \vdots & -d_{1} & \ddots & \ddots & & \vdots \\ -d_{k-1} & & \ddots & \ddots & \ddots & \vdots \\ 0 & \ddots & & \ddots & \ddots & \vdots \\ \vdots & \ddots & \ddots & & \ddots & \ddots & \vdots \\ \vdots & \ddots & \ddots & & \ddots & \ddots & \vdots \\ 0 & \cdots & 0 & -d_{k-1} & \cdots & -d_{1} & 1 \end{bmatrix}.$$
 (2.3)

## 3. THE GENERALIZED F-NOMIAL MATRIX

In this section we will define the generalized F-nomial coefficients which is generalization of the F-nomial coefficients. The F-nomial coefficients was defined as follows in [5]. Let F be a natural numbers' sequence  $\{n_F\}_{n\geq 0}$ , and  $n,k\in\mathbb{N}$ , such that  $n\geq k$ , the F-nomial coefficient

is identified with the symbol

$$\binom{n}{k}_F = \frac{n_F!}{k_F!(n-k)_F!}$$

where  $n_F! = n_F (n-1)_F ... 1_F$  with  $0_F! = 1.[5]$ 

We now give a generalization of F-nomial coefficient which we name as generalized F-nomial coefficient.

**Definition 1.** Let GF be any sequence  $\{n_{GF}\}_{n\geq 0}$ , whose any element is different from 0 and  $n,k\in\mathbb{N}$ . Then generalized F – nomial coefficient  $(GF-nomial\ coefficient)$  is defined and shown with the symbol

$$\binom{n}{k}_{GF} = \frac{n_{GF}!}{k_{GF}!(n-k)_{GF}!}$$

where  $n_{GF}! = n_{GF} (n-1)_{GF} ... 1_{GF}$  with  $0_{GF}! = 1$ .

For some special cases:

- If GF is a natural numbers' sequence  $\{n_F\}_{n\geq 0}$ , and  $n,k\in\mathbb{N}$ , such that  $n\geq k$  then GF-nomial coefficient reduce to F-nomial coefficient which is defined in [5].
- If GF is sequence of natural numbers that is  $n_{GF} = n$  the GF nomial coefficients reduce to ordinary binomial coefficients

$$\binom{n}{k}_{GF} = \frac{n!}{k!(n-k)!} = \binom{n}{k}$$

• If we get GF as Fibonacci sequence  $\{F_n\}_{n\geq 0}$  one obtain Fibonomial coefficients that is

$$\binom{n}{k}_{GF} = \frac{F_n!}{F_k!F_{n-k}!} = \binom{n}{k}_{Fib}$$

• Finally if the *nth* element of the sequence GF is  $n_{GF} = n_q = \frac{(q^n - 1)}{q - 1}$  one can obtain q-binomial (Gaussian) coefficients.

Now we define generalization of the Pascal matrix similar to the matrices in [10] and [20].

**Definition 2.** The  $n \times n$  generalized Pascal matrix  $\mathcal{F}_n(GF)$  associated with GF – nomial coefficients is defined as

$$\mathcal{F}_n(GF; i, j) = \binom{i-1}{j-1}_{GF}, \ i, j = 1, 2, \dots, n, \tag{3.1}$$

with

$$\binom{i-1}{j-1}_{GF} = 0 \quad if \ j > i.$$

For example  $5 \times 5$  generalized Pascal matrix associated with GF-nomial coefficients  $\mathcal{F}_5(GF)$  is

$$\mathcal{F}_{5}(GF) = \begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 \\ 1 & \binom{2}{1}_{GF} & 1 & 0 & 0 \\ 1 & \binom{3}{1}_{GF} & \binom{3}{2}_{GF} & 1 & 0 \\ 1 & \binom{4}{1}_{GF} & \binom{4}{2}_{GF} & \binom{4}{3}_{GF} & 1 \end{bmatrix}$$
(3.2)

If GF is sequence of natural numbers that is  $n_{GF} = n$  then we obtain usual Pascal matrix [3].

If we get GF as Fibonacci numbers  $\{F_n\}_{n\geq 0}$  we obtain Fibonomial matrix [20].

If we get GF as Pell numbers  $\{P_n\}_{n\geq 0}$  we obtain Pell Pascal matrix [20]. For example, if n=5 then these matrices are given by

$$\begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 \\ 1 & 2 & 1 & 0 & 0 \\ 1 & 3 & 3 & 1 & 0 \\ 1 & 4 & 6 & 4 & 1 \end{bmatrix}, \begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 \\ 1 & 2 & 2 & 1 & 0 \\ 1 & 3 & 6 & 3 & 1 \end{bmatrix}, \begin{bmatrix} 1 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 \\ 1 & 2 & 1 & 0 & 0 \\ 1 & 5 & 5 & 1 & 0 \\ 1 & 12 & 30 & 12 & 1 \end{bmatrix}$$

respectively.

We now give the following recurrence

$$a_n = -\sum_{i=1}^{n-1} a_i \binom{n-1}{i-1}_{GF} \quad , \quad a_1 = 1$$
 (3.3)

for finding the inversion formula of the GF – nomial coefficients  $\binom{n}{k}_{GF}$ .

The inverse of the Pascal matrix associated with GF-nomial coefficients is given in the following theorem.

Theorem 3. Let  $\mathcal{F}_n^{-1}(GF)$  be the  $n \times n$  matrix defined by

$$\mathcal{F}_{n}^{-1}(GF;i,j) = \begin{cases} a_{i-j+1} \binom{i-1}{j-1}_{GF} & \text{if } i \geq j, \\ 0 & \text{otherwise} \end{cases}$$
 (3.4)

where  $a_n$  is in (3.3). Then  $\mathcal{F}_n^{-1}(GF)$  is inverse of  $\mathcal{F}_n(GF)$  the Pascal matrix associated with GF – nomial coefficients.

*Proof.* It's clear that  $(\mathcal{F}_n(GF)\mathcal{F}_n^{-1}(GF))_{ij} = 0$  for i < j. If i = j, then we have

$$(\mathcal{F}_n(GF)\mathcal{F}_n^{-1}(GF))_{ii} = \sum_{s=1}^n \mathcal{F}_n(GF;i,s)\mathcal{F}_n^{-1}(GF;s,i)$$
$$= \mathcal{F}_n(GF;i,i)\mathcal{F}_n^{-1}(GF;i,i)$$
$$= \binom{i-1}{i-1}_{GF} a_{i-i+1} \binom{i-1}{i-1}_{GF} = 1.$$

We will prove that  $(\mathcal{F}_n(GF)\mathcal{F}_n^{-1}(GF))_{ij} = 0$  for i > j. Suppose i > j then

$$(\mathcal{F}_{n}(GF)\mathcal{F}_{n}^{-1}(GF))_{ij} = \sum_{s=1}^{n} \mathcal{F}_{n}(GF; i, s)\mathcal{F}_{n}^{-1}(GF; s, j)$$

$$= \binom{i-1}{j-1} a_{1} \binom{j-1}{j-1}_{GF}$$

$$+ \binom{i-1}{j} a_{2} \binom{j}{j-1}_{GF}$$

$$+ \cdots + \binom{i-1}{i-1}_{GF} a_{i-j+1} \binom{i-1}{j-1}_{GF}$$

$$= \frac{[i-1]_{GF}!}{[j-1]_{GF}!} \left( \frac{a_{1}}{[i-j]_{GF}!} + \frac{a_{2}}{[i-j-1]_{GF}!} [1]_{GF}! \right)$$

$$+ \cdots + \frac{a_{i-j+1}}{[i-j]_{GF}!}$$

$$= \frac{[i-1]_{GF}!}{[j-1]_{GF}![i-j]_{GF}!} \left( \frac{a_{1}[i-j]_{GF}!}{[i-j]_{GF}!} + \frac{a_{2}[i-j]_{GF}!}{[i-j-1]_{GF}![i-j]_{GF}!} \right)$$

$$= \frac{[i-1]_{GF}!}{[j-1]_{GF}![i-j]_{GF}!} \left( a_{1} \binom{i-j}{0}_{GF} + a_{2} \binom{i-j}{1}_{GF} + \cdots + a_{i-j+1} \binom{i-j}{i-j}_{GF} \right)$$

$$= \frac{[i-1]_{GF}!}{[j-1]_{GF}![i-j]_{GF}!} \left( \sum_{k=1}^{i-j} a_{k} \binom{i-j}{k-1}_{GF} + a_{i-j+1} \binom{i-j}{i-j}_{GF} \right)$$

$$+ a_{i-j+1} \binom{i-j}{i-j}_{GF}!$$

Using (3.3), we obtain

$$\sum_{s=1}^{n} \mathcal{F}_{n}(GF; i, s) \mathcal{F}_{n}^{-1}(GF; s, j) = 0$$

for i > j.

# 4. FACTORIZATIONS OF THE F-NOMIAL MATRIX VIA GENERALIZED k—order Fibonacci matrix

In this section, we discuss new factorizations of  $\mathcal{F}_n(GF)$  generalized Pascal matrix associated with GF-nomial coefficients. We define new  $n \times n$  matrix  $\mathcal{L}_n(k, GF)$  as follows

$$\mathcal{L}_{n}(k, GF; i, j) = {\binom{i-1}{j-1}}_{GF} - \sum_{s=1}^{k} d_{s} {\binom{i-s-1}{j-1}}_{GF}, \tag{4.1}$$

For k = 2 and n = 3 we have

$$\mathcal{L}_{3}(2,GF) = \begin{bmatrix} 1 & 0 & 0 \\ 1 - d_{1} & 1 & 0 \\ 1 - d_{1} - d_{2} & \binom{2}{1}_{GF} - d_{1} & 1 \end{bmatrix}$$

**Theorem 4.** Let  $\mathcal{L}_n(k, GF)$  be  $n \times n$  matrix as in (4.1) and  $F_n(k)$  be  $n \times n$  matrix as in (2.1). Then

$$\mathcal{F}_n(GF) = F_n(k) \ \mathcal{L}_n(k, GF).$$

*Proof.* Since the inverse of the matrix  $F_n(k)$  is given in (1.1) then it is enough to prove  $F_n(k)^{-1}\mathcal{F}_n(GF) = \mathcal{L}_n(k, GF)$ . Let  $F_n(k)^{-1} = [f'(k)_{ij}]$  be the inverse of the matrix  $F_n(k)$  then

$$l_{11} = \sum_{s=1}^{n} F'_{1s} p_{s1}$$

$$= F'_{11} p_{11} + F'_{12} p_{21} + \dots + F'_{1n} p_{n1}$$

$$= F'_{11} p_{11}$$

$$= 1_{GF}$$

since  $F'_{ij} = 0$  for  $j \ge 2$ .

$$l_{1j} = \sum_{s=1}^{n} F'_{1s} p_{sj}$$

$$= F'_{11} p_{1j} + F'_{12} p_{2j} + F'_{13} p_{3j} + \dots + F'_{1n} p_{nj}$$

$$= F'_{11} p_{1j}$$

$$= 0$$

since  $p_{1j} = 0$  for  $j \geq 2$ .

$$l_{21} = \sum_{s=1}^{n} F'_{2s} p_{s1}$$

$$= F'_{21} p_{11} + F'_{22} p_{21} + F'_{23} p_{31} + \dots + F'_{2n} p_{n1}$$

$$= F'_{21} p_{11} + F'_{22} p_{21}$$

$$= -1_{F} + 1_{F}$$

$$= 0$$

since  $F'_{ij} = 0$  for  $j \geq 2$ .

$$\begin{array}{rcl} l_{22} & = & \sum_{s=1}^{n} F_{2s}' p_{s2} \\ & = & F_{21}' p_{12} + F_{22}' p_{22} + F_{23}' p_{32} + \dots + F_{2n}' p_{n2} \\ & = & F_{22}' p_{22} \\ & = & 1_{GF} \end{array}$$

since  $p_{1j} = 0$  for  $j \geq 2$ .

$$l_{2j} = \sum_{s=1}^{n} F'_{2s} p_{sj}$$

$$= F'_{21} p_{1j} + F'_{22} p_{2j} + F'_{23} p_{3j} + \dots + F'_{2n} p_{nj}$$

$$= F'_{21} p_{1j} + F'_{22} p_{2j}$$

$$= 0$$

since  $p_{1j} = 0$  for  $j \ge 2$ . Finally from the definition of  $F_n(k)^{-1}$  and the recurrence relation (4.1) for  $i \geq j$  we have

$$\begin{split} \sum_{s=1}^{n} F'(k)_{is} p_{sj} &= F'_{i1} p_{1j} + \ldots + F'_{i(i-k-2)} p_{(i-k-2)j} \\ &+ F'_{i(i-k-1)} p_{(i-k-1)j} + F'_{i(i-k)} p_{(i-k)j} \\ &+ F'_{i(i-k+1)} p_{(i-k+1)j} + F'_{i(i-k+2)} p_{(i-k+2)j} \\ &+ \ldots + F'_{i(i-1)} p_{(i-1)j} + F'_{ii} p_{ij} \\ &+ F'_{i(i+1)} p_{(i+1)j} + \ldots + F'_{in} p_{nj} \\ &= -\binom{i-k-1}{j-1}_{GF} - \binom{i-k}{j-1}_{GF} \\ &- \binom{i-k+1}{j-1}_{GF} - \ldots - \binom{i-3}{j-1}_{GF} \\ &- \binom{i-2}{j-1}_{GF} + \binom{i-1}{j-1}_{GF} \\ &= b_{ij} \end{split}$$

since  $F'_{ij} = 0$  for i - j > k.

It is obviously seen that for i < j,  $l_{ij} = 0$  and for i = j,  $l_{ij} = 1$ .

Now, we define a new  $n \times n$  matrix  $R_n(k, GF)$  as follows.

$$R_n(k, GF; i, j) = {i-1 \choose j-1}_{GF} - \sum_{s=1}^k d_s {i-1 \choose j+s-1}_{GF}.$$
 (4.2)

For k = 3 and n = 3 we have

$$R_3(3,GF) = \begin{bmatrix} 1 & 0 & 0 \\ 1-d_1 & 1 & 0 \\ 1-d_1\binom{2}{1}_{GF} - d_2 & \binom{2}{1}_{GF} - d_1 & 1 \end{bmatrix}$$

Theorem 5. Let  $R_n(k, GF)$  be the matrix as in (4.2). Then

$$\mathcal{F}_n(GF) = R_n(k, GF) F_n(k).$$

# 5. ILLUSTRATIVE EXAMPLE

Example 1. For the sequence  $GF = (-1)^n \frac{n}{n^2 + 1}$ , k = 3, and n = 4 then

$$\mathcal{F}_4\left((-1)^n\frac{n}{n^2+1}\right) = \begin{bmatrix} 1 & 0 & 0 & 0\\ 1 & 1 & 0 & 0\\ 1 & -\frac{4}{5} & 1 & 0\\ 1 & \frac{3}{5} & \frac{3}{5} & 1 \end{bmatrix}$$

and

$$F_4(3) = \begin{bmatrix} 1 & 0 & 0 & 0 \\ d_1 & 1 & 0 & 0 \\ d_1^2 + d_2 & d_1 & 1 & 0 \\ d_1^3 + 2d_1d_2 + d_3 & d_1^2 + d_2 & d_1 & 1 \end{bmatrix}.$$

The matrices

$$L_4\left(3,(-1)^n\frac{n}{n^2+1}\right) = \begin{bmatrix} 1 & 0 & 0 & 0\\ 1-d_1 & 1 & 0 & 0\\ 1-d_1-d_2 & -\frac{4}{5}-d_1 & 1 & 0\\ 1-d_1-d_2-d_3 & \frac{3}{5}+\frac{4d_1}{5}-d_2 & \frac{3}{5}-d_1 & 1 \end{bmatrix}$$

and

$$R_4\left(3,(-1)^n\frac{n}{n^2+1}\right) = \begin{bmatrix} 1 & 0 & 0 & 0\\ 1-d_1 & 1 & 0 & 0\\ 1+\frac{4d_1}{5}-d_2 & -\frac{4}{5}-d_1 & 1 & 0\\ 1-\frac{3d_1}{5}-\frac{3d_2}{5}-d_3 & \frac{3}{5}-\frac{3d_1}{5}-d_2 & \frac{3}{5}-d_1 & 1 \end{bmatrix}$$

For first factorization

$$F_4(3)L_4\left(3,(-1)^n\frac{n}{n^2+1}\right)$$

$$=\begin{bmatrix} 1 & 0 & 0 & 0\\ d_1 & 1 & 0 & 0\\ d_1^2+d_2 & d_1 & 1 & 0\\ d_1^3+2d_1d_2+d_3 & d_1^2+d_2 & d_1 & 1 \end{bmatrix}$$

$$\times\begin{bmatrix} 1 & 0 & 0 & 0\\ 1-d_1 & 1 & 0 & 0\\ 1-d_1-d_2 & -\frac{4}{5}-d_1 & 1 & 0\\ 1-d_1-d_2-d_3 & \frac{3}{5}+\frac{4d_1}{5}-d_2 & \frac{3}{5}-d_1 & 1 \end{bmatrix}$$

$$=\begin{bmatrix} 1 & 0 & 0 & 0\\ d_1 & 1 & 0 & 0\\ d_1^2+d_2 & d_1 & 1 & 0\\ d_1^2+d_2 & d_1 & 1 & 0\\ d_1^3+2d_1d_2+d_3 & d_1^2+d_2 & d_1 & 1 \end{bmatrix}$$

$$=\mathcal{F}_4\left((-1)^n\frac{n}{n^2+1}\right)$$

and the second is

$$R_4\left(3,(-1)^n\frac{n}{n^2+1}\right)F_4(3)$$

$$=\begin{bmatrix} 1 & 0 & 0 & 0\\ 1-d_1 & 1 & 0 & 0\\ 1+\frac{4d_5}{5}-d_2 & -\frac{4}{5}-d_1 & 1 & 0\\ 1-\frac{3d_1}{5}-\frac{3d_2}{5}-d_3 & \frac{3}{5}-\frac{3d_1}{5}-d_2 & \frac{3}{5}-d_1 & 1 \end{bmatrix}$$

$$\times\begin{bmatrix} 1 & 0 & 0 & 0\\ d_1 & 1 & 0 & 0\\ d_1^2+d_2 & d_1 & 1 & 0\\ d_1^3+2d_1d_2+d_3 & d_1^2+d_2 & d_1 & 1 \end{bmatrix}$$

$$=\begin{bmatrix} 1 & 0 & 0 & 0\\ 1 & 1 & 0 & 0\\ 1 & \frac{4}{5} & 1 & 0\\ 1 & \frac{3}{5} & \frac{3}{5} & 1 \end{bmatrix}$$

$$=\mathcal{F}_4\left((-1)^n\frac{n}{n^2+1}\right)$$

#### 6. Conclusion

In this study we defined the generalized k-order Fibonacci sequence, generalized k-order Fibonacci matrix and the  $n \times n$  generalized Pascal matrix  $\mathcal{F}_n(GF)$  associated with generalized F-nomial coefficients. We found the inverse of generalized Pascal matrix  $\mathcal{F}_n(GF)$  associated with generalized F-nomial coefficients. In the last section we factorized this matrix via generalized k-order Fibonacci matrix. By our factorizations the results in [13], [24], [14], [18], [19], [20] are our special cases.

Acknowledgements: The authors thank to the anonymous referees for his/her comments and valuable suggestions that improved the presentation of the paper.

#### REFERENCES

- Aceto, L., Trigiante, D., The matrices of Pascal and other greats, Amer. Math. Monthly 108 (2001) no:3, 232-245.
- [2] Akbulak, M.; Bozkurt, D., On the order-m generalized Fibonacci k-numbers. Chaos Solitons Fractals 42 (2009), no. 3, 1347 1355.
- [3] Call, Gregory S., Velleman, Daniel J., Pascal's matrices. Amer. Math. Monthly 100 (1993), no. 4, 372–376.
- [4] Dziemianczuk, M., On multi F-nomial coefficients and Inversion formula for F-nomial coefficients, arXiv:0806.3626v2 [math.CO], 23 December 2008.
- [5] Dziemianczuk, M., Generalization of Fibonomial Coefficients, arXiv:0908.3248v1 [math.CO], 22 August 2009.
- [6] Er, M. C.Sums of Fibonacci numbers by matrix methods. Fibonacci Quart. 22 (1984), no. 3, 204 207.

- [7] Kalman D. Generalized Fibonacci numbers by matrix methods. Fibonacci Q 1982;20(1):73 6.
- [8] Silvester JR. Fibonacci properties by matrix methods. Math Gazette 1979, 63:18891
- [9] Kwaśniewski, A. Krzysztof; Krot-Sieniawska, Ewa Lucky 7-th exercises on inversion formulas and Fibonomial coefficients. Proc. Jangjeon Math. Soc. 11 (2008), no. 1, 65-68
- [10] Kwaśniewski, Andrzej K.  $\psi$ -Pascal and  $\hat{q}_{\psi}$ -Pascal matrices an accessible factory of one source identities and resulting applications. Adv. Stud. Contemp. Math. (Kyungshang) 10 (2005), no. 2, 111–120.
- [11] Kwaśniewski, Andrzej K. Cauchy  $\hat{q}_{\psi}$ -identity and  $\hat{q}_{\psi}$ -Fermat matrix via  $\hat{q}_{\psi}$ -muting variables of  $\hat{q}_{\psi}$ -extended finite operator calculus. Proc. Jangjeon Math. Soc. 8 (2005), no. 2, 191–196.
- [12] Kwaśniewski, A. K. Comments on combinatorial interpretation of Fibonomial coefficients an e-mail style letter. Bull. Inst. Combin. Appl. 42 (2004), 10 11.
- [13] Lee, Gwang-Yeon; Kim, Jin-Soo; Cho, Seong-Hoon Some combinatorial identities via Fibonacci numbers. Discrete Appl. Math. 130 (2003), no. 3, 527 534.
- [14] Lee, Gwang-Yeon; Kim, Jin-Soo The linear algebra of the k-Fibonacci matrix. Linear Algebra Appl. 373 (2003), 75–87.
- [15] Lee, Gwang-Yeon; Kim, Jin-Soo; Lee, Sang-Gu Factorizations and eigenvalues of Fibonacci and symmetric Fibonacci matrices. Fibonacci Quart. 40 (2002), no. 3, 203 211.
- [16] E.P. Miles Jr., Generalized Fibonacci numbers and associated matrices, Amer. Math. Monthly 67 (1960) 745-752.
- [17] Seibert, Jaroslav; Trojovski, Pavel On some identities for the Fibonomial coefficients. Math. Slovaca 55 (2005), no. 1, 9 19.
- [18] Tasci, D., Tuglu, N., Asci, M., On Pascal Matrix via k-Fibonacci like Matrices, The First International Conference on Mathematics and Statistics, March18-21, 2010 American University of Sharjah U.A.E.
- [19] Tasci, D., Tuglu, N., Asci, M. On Fibo-Pascal matrix involving -Fibonacci and -Pell matrices Arab. J. Sci. Eng. 36 (2011), no. 6, 1031 1037.
- [20] Tuglu, N., Kocer E.G., The Generalized Pascal Matrices Via Fibonomial Coefficients, (accepted).
- [21] Zhang, Zhizheng The linear algebra of the generalized Pascal matrix. Linear Algebra Appl. 250 (1997), 51 60.
- [22] Zhang, Zhizheng; Wang, Tianming Generalized Pascal matrix and recurrence sequences. Linear Algebra Appl. 283 (1998), no. 1-3, 289 299.
- [23] Zhang, Zhizheng; Liu, Maixue An extension of the generalized Pascal matrix and its algebraic properties. Linear Algebra Appl. 271 (1998), 169 177.
- [24] Zhang, Zhizheng; Wang, Xin A factorization of the symmetric Pascal matrix involving the Fibonacci matrix. Discrete Appl. Math. 155 (2007), no. 17, 2371 2376.

PAMUKKALE UNIVERSITY SCIENCE AND ARTS FACULTY DEPARTMENT OF MATHEMATICS KINIKLI DENIZLI TURKEY

E-mail address: mustafa.asci@yahoo.com

GAZI UNIVERSITY SCIENCE AND ARTS FACULTY DEPARTMENT OF MATHEMATICS TEKNIKOKULLAR ANKARA TURKEY

E-mail address: dtasci@gazi.edu.tr

GAZI UNIVERSITY SCIENCE AND ARTS FACULTY DEPARTMENT OF MATHEMATICS TEKNIKOKULLAR ANKARA TURKEY

E-mail address: tuglunaim@gmail.com